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| 4,779,900
= 16, 172,047
B4 BB 23 36,391,295 37,619,559 ~1,228,264
2 12,424, 178
z 3,095,000
o 4,779,900
= 16,002,217
ERPIEESE 5,504,633 6,821,150 ~1,316,517
z 1,645,000
o] 256,400
= 3,603,233
S TEEPIEIE Y 10,000 9,400 600
203 AR =Y 3,000 2,400 600
03 A= AR=TY] 3,000 2,400 600
OsMYRET 3,000
301 LB 7,000 7,000 0
10 BAAEI B4 S 7,000 7,000 0
OJsgel o 2asIt J|2RS N 7,000
KIS SBHA (S AHE0F) 714,000 1,416,000 A702,000
z 595,000
= 119,000
403 KX SIS XH2 0l ® 714,000 1,416,000 A702,000
z 595,000
= 119,000
01 KXISHAE R E 714,000 1,416,000 A702,000
OXHSEA 1,190,000, 00021 60% 714,000
z 595,000
= 119,000
WEPNESEER 384,600 1,137,500 A752,900
| 256,400
= 128,200
403 XX SIS XH2 0l ® 384,600 1,137,500 A752,900
| 256,400
= 128,200
01 XXIGHA =R X 384,600 1,137,500 A752,900
ODIZ AR 1,282,000,0002! *17H A #30% 384,600
| 256,400
= 128,200
NP 145,000 100,000 45,000
307 2I2H0IE 100,000 100,000 0
04 DIt AL 100,000 100,000 0
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Os4t0l 8ot =X 100,000
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01 XM= E = 45,000 0 45,000
OF4&=sIt AAZEBEEH| K& 45,000
H=sB=ZAESIXIA 70,000 70,000 0
307 212t01& 70,000 70,000 0
02 QIAANBE 70,000 70,000 0
ONZQIZLHAIEE AT 70,000
StRMY=SLE XA 836,000 777,000 59,000
308 XX EHHSOIA 836,000 777,000 59,000
01 AXEHINELS 836,000 777,000 59,000
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2,160,000,0002 %135 +15% 324,000
SOLX M OFE ALY
20,000& *40, 0005 *15% 120,000
OB OLRIE ARl X &
15,000& 32, 000kg* 15% 72,000
OEH? SEHAAY 80,000
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ostes=y X 90,000
Y=sitsd 965,033 1,045,050 A80,017
308 MXIHHMSOIA 845,033 995,050 A 150,017
01 RASHBLRES 845,033 995,050 A150,017
ORNEAASAH N 80,000
OREAMBLHEX 80,000
OYeEsIitE=dA XA 600,000
ORE &AL X2 45,000
ORI L=AMzH| 40,033
403 XX HMEAH=01H 120,000 50,000 70,000
01 RXSHZDE 120,000 50,000 70,000
OU~2 =T DIME LI K& 120,000
IIEUZS=F AN X& 120,000 112,500 7,500
308 XX HHSO0IA 90,000 60,000 30,000
01 MXEHINELS 90,000 60,000 30,000
O=&& OIMAIL XA 150,000& *2,0005 *30% 90,000
403 KX M SK=201H 30,000 52,500 222,500
01 RXESHMA2E = 30,000 52,500 A 22,500
OJ}=QIB4BES UK
1,000,000+ 100CH *30% 30,000
ST 510,000 100,000 410,000
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p 1,409,100
= 251,630
308 X XISHH SO0 1,660,730 1,564,819 95,911
p 1,409,100
= 251,630
R ER ) 1,660,730 1,564,819 95,911
OBt DR T A AR (24,4002 1,660,730
I 1,409,100
= 251,630
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403 XXISH SR 201 704,000 1,085,000 381,000
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OZAME Mot o AHIYS FYl X2 59,000
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403 XHXISHH SR =0 1,155,000 1,260,000 A105,000
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= 240,000
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OUYI S22 I NE 24,000,000 +57H A +65% 78,000
2 60,000
= 18,000
S| AU WA RSB EL T 535,400 639,000 £103,600
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01 KXIGHHX= R X 535,400 639,000 £103,600
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01 XXl A Xt 480,000 0 480,000
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